DIATGNE® ROMA F5DJI v2 HlZRAREREE

Roma F5 DJI v2 Frame Assemble Diagram

Roma F5 DJI v2 TERAE L, LT BRI RE  HIkBIERBM B, MRREIT0T5EEAREI304RFE MM, REMICAIE, Tk
BRI TR AHIEERL, U MM2R—BIM3R T ;18I0 T DIIRIIR L E E 75 o ML BN e R ERIPM, RABENER, EEEAN]
BB mBIRIF. Goprorl VAR EEE, et F P BRI, ZEERE LRI, BERSEFNF RN VTR,

Diatone has introduced a number of changes to the newly optimized Roma F5 v2, including the stiffness and strength of the frame arms.
We've also strengthened the metal parts at the front of the frame and upgrade the alloy material from 7075 to 304. For that extra high-end, tactile
quality, we've treated the surface of the metal parts as well and changed the screws fixing the metal parts from M2 size to M3-sized specifica-
tions. For our digital HD fans, we haven't forgotten you! This time, we've added mounts for the twin DJI antennas. Roma F5 v2's injection-mold-
ed protection parts not only add a dash of color with our new color options but also offer better protection for your gear. The GoPro mount angle
can be adjusted for faster changes on the fly. For the best flying experience, the v2 comes in a slammed configuration for stability.

= maRig

Product Specifications

MZRAEL  HEY sdfgsmeE: 290mm M2RSE 140g(FEFLEMHN13g)  HIREE:2.5mm

HiREE:2mm ERERE: 3.5mm MEERE: 6mm HE TR :10~14mm

KEFLF:25.5mm K&EES:23mm TR ANEM:5.2inch BRKEE: 20mm

R 4S~6S BN ZEEFLEE: 16mm(M3) WA 22~23 R 5B ¥#EFLEE:20*20mm (M2) /30.5*30.5mm (M3)
Frame Shape: Type H Motor to Motor:226mm Frame Net Weight: 140g Top Plate Thickness: 2.5mm

Medium Plate Thickness: 2 mm Bottom Plate Thickness: 2.5mm Arm Thickness:5mm Arm Width:10~14mm

Bore Diameter of Snap Ring: @5.5mm Max Stack Height: 23mm Supported Prop Size: 5.2 inch Camera Spacing:20mm

Recommended Lipo: 45-6S The hole distance of Motor mounting: 16mm(M3) Recommended Motor Size: 22~23 Series motor

FC Stack Mount: 20*20mm(M2)/30.5*30.5mm(M3)

i35 3

Parts list

B2

D

Ttk iR AR g MkEREE M3X23mm&MEE
Top plate Medium plate Bottom plate Arm Drone head metal parts M3 % 23mm Alum standoff
B3 B4 Cl C2 C3 D1
42mm

X2 x3 X1 X1 <4
M2 X 19mmigHE M3X23mméait GPS/TBS/2.4G $TENM4 DJIRZImITEN 4 DJI K LLEE LR
M2 X 19mm Alum standoff M3 % 23mm Alum standoff GPS/TBS/2.4G 3D-Printed out ~ DJIAIR Unit bracket DJI dual antenna mount Motor wire cover
D2 D3 D4 D5 D6

tﬁ M @ AWG 12 @ b
AWG 14 a

X1 X4 X1 X1 X1 X1
TKIERIPMIR kS BB E E Al KUMAR Gopro®] A& FELMAR
Arm guards Foot pad Power cord fixing Front airflow side panel GoPro adjustable mount Camera plate
D8 D9 D10 El E2 E3

§ Z? b
a g

X1 X1 X2 X7 X3 x5

Etph R HKRIPH 2 AGKREIRIF M2 X 5mmPA7 gL M2 X 11mmR7figL M3 X5mm 7 f gL

Lipo anti-slip pad Camera protector 2.4G Antenna protector M2 X5mm Hex screw M2X11mm Hex screw M3X5mm Hex screw



E4 E5 E6 E7 E8 ES

o = = g = o

x10 x 18 x12 X6 X6 x4
M3X6mmMAI7 gL M3X8mmMA7 iR M3X9mmMA7 gL M3X11mmMA7x gL M3X13mmA7 AR M3X28mmPAAIRL
M3X6mm Hex screw M3 X 8mm Hex screw M3X9mm Hex screw M3X 11mm Hex screw M3 X 13mm Hex screw M3X28mm Hex screw
E10 Ell E12 E13 E4

— 2 @ e

X1 X1 x18 X3
M5 X 20mmPAAf gL M5 BRI M3X6X0.5mm S M2 425 X3
M5 % 20mm Hex screw M5 Self tightening nut M3 % 6X0.5mm Iron gasket M2 Nut M3 X 5mmiTk A7 fiR

M3 X 5mm Sunken socket head cap screw

[P - =N =}
TERTE

Installation procedure

RE20mmIEEIGRL
Installation of 20mm camera




VTX:MAMBA Ultra 1000
(Need to buy separately 53 5h5%M1)

TBS CROSSFIRE
IMMORTAL T V2 ANTENNA
(Need to buy separately 3% )

=[]

IPEX to MMCX
( Optional products B~ )




RgREARNT:
Antenna installation Way 2:

(Need to buy separately &5t

& A g
= (/%/\ N7
IASY

’ .

220 GPS
(Need to buy separately &5 5hi%l)

TBS CROSSFIRE
IMMORTAL T V2 ANTENNA
(Need to buy separately & 5:%M1)

BHEIES X
Battery fixing way

BEIFANE R, AIEE A RIDIATONEE MRS
For more information, please refer to the Diatone official website

DIATGNE®

We provide outstanding service since 2012

Manufacturer : Diatone Innovation Designed by Sniclo.

Email : service.support@diatone.hk

Tel : (+86)0769—82100057 Web : www.diatone.us

Address : Baijiayi Technology Park A-3, Yantian , Fenggang , Dongguan , Guangdong , China

MAMBA 5.8G Antenna (MMCX)




